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10.

A car park shows this sign.

10p

Complete the table to show all the different ways of paying exactly 70p.

20p

Car Parking
70p

Pay using any of these coins:

50p

No change given

Number of | Number of | Number of
10p coins | 20p coins | 50p coins
7 0 0
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26 In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
® 5.1 million lived in Scotland.
= 3 million lived in Wales.

= The rest lived in Northern Ireland.

(a) In 2005, about how many people lived in Northern Ireland?

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (/) the correct value.

\ r‘ 1% rlsﬁ |—|2096 |_|6396 —
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"

Write the missing numbers.

\

962 +

51 x

- 403

+28

= 1898

982

2397

828
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6. Two websites sell the same type of radio.

Sunilis going to buy the radio from one of the websites.
He also has to pay for postage.

Which website is cheaper and by how much?

\

Website is cheaper by
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22.  People payto visit a garden.

145 people pay.
39 of them are under 16

How much ticket money is paid altogether?
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11. (@) Work out the answer.

\z.(w

(b) Put brackets in the calculation below to make it correct.

N




image101.jpg
16. In 2005, about 60.2 million people lived in the UK.
Look at the information about these people.

= 50.4 million lived in England.
= 5.1 million lived in Scotiand.
= 3 million lived in Wales.

® The rest lived in Northern Ireland.

(@) In 2005, about how many people lived in Northern Ireland?

M ]

(b) In 2005, about what percentage of people in the UK lived in Wales?
Tick (v) the correct value.

N O O e [es —
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Write the missing numbers.

\

962 +

51 x

- 403

+23

= 1898

982

2397

828
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\

Two websites sell the same type of radio.

Sunilis going to buy the radio from one of the websites.
He also has to pay for postage.

Which website is cheaper and by how much?

Website is cheaper by

i
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13.

\

People pay to visit a garden.

Tickets:

Age 16 and over

Under 16

145 people pay.
39 of them are under 16

How much ticket money is paid altogether?
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Write the missing numbers.
The first pair is done for you.

- Add__5
5
\ >
Multiply by
A
- Add
10
A
o~ Multiply by
e Add 10 H Multiply by
10
~ Multiply by 2 H Add

\./ \./

\./

10

40

40
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20.

Here are six number cards.

‘2“3’

4"5

(a) Arrange these six cards to make the calculations below.

The first one is done for you.

939 =

1164

750 =

(b) Now arrange the six c:

\

1n5 =

ake a

difference of

15
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You are a travel agent.

You find these costs of flights for the Jones family.

-
- Budget

QP Airlines) —

Ticket prices Ticket prices.

(includes al taxes, foes and charges)
Adult: £240

Children aged 1to 12:
50% of the adult price

Children under 1:
10% of the adult price

1 or 2 suitcases per person: no charge

(includes all taxes, fees and charges)

Adults and children over 1: £185

Children under the age of 1: £20

Each suitcase: £8

Mr Jones is 41 years old and so is Mrs Jones.

Kal Jones is 8 years old, Xena Jones is 4 years old and

Roxy Jones is 6 months old.

In total, the family want to take 3 suitcases with them.

Which airline do you recommend and why?
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10. A shop sells fruit.

Peaches Oranges
49p each 26p each

Apples
£1.50 per kg
1kg is about 5 apples

YN

Bananas Satsumas
85p per kg £1.99 per kg
1kg is about 6 bananas 1kg is about 8 satsumas

Alice wants 2 different fruits.

She has 80p.
What can she buy?
Complete the table opposite to show different combinations and the change due.

One has been done for you.
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orange

and

49p + 26p = 75

orange

and

and

and

and
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Jack has forgotten his PIN.

He can remember that it is a four-digit number starting with 9 and ending with 3

9[?[?2]3

He also knows that the first two digits add up to the same as the last two digits.

Write down all the numbers that his PIN could be.
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21.

Write the missing numbers in the boxes.

\ 0.06 +

\ 0.6 + 0.06 +
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22,

A swimming pool has this price list.

Swimming Pool Price

List

— &>

Adult Child

Annual Membership £230.00 £180.00
Monthly Membership £26.50 £15.00
Casual Swim £3.50 £1.65
Add-on Membership £7.00 for each child
Family Swim £7.25

Annual Membershi

Family Swim: 2 adults and 2 children. Pay on entry.

Unlimited swimming for a year.
Monthly Membership: Unlimited swimming for one month.
Add-on Membership: Add up to 3 children to an adult Monthly Membership.

Afather and his two children want to swim twice a week for a year.

What is the minimum cost per month for them to do this?

\

per month
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1

Fillin the missing numbers.

68

100

20

100

300

100

65

100
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This question is about number pyramids.
You add two numbers to work out the number that goes on top of them.

15
3+4=7s0
8|7 7 goes on top
of 3and 4
5 3 a

(a) Complete the number pyramid below.

[T]

6 1|2 |
Vi
(b) Complete the number pyramid below in two different ways.
\ 20 20
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(a) Add together 147 and 376

(b) Subtract 36 from 218

(c) Multiply 49 by 3
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There are seven different ways to make 8p with coins.

Complete the table to show the seven ways to make 8p.

Two have been done for you.

Number of Number of Number of
5p coins 2p coins 1p coins
0 o 8
0 1 6

FE.
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The diagram shows a matchbox.
Its length is 5.3cm. Its width is 3.6cm. Its height is 1.5cm.

{15em

— 'Ascm

5.3cm

Not drawn accurately

(a) 1 join two matchboxes in different ways.
Fill in the missing values.

\

\ length = cm
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(b) Istart joining matchboxes like this:

How many matchboxes will be in the pile when its height is 12em?
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1.

A shop sells sports equipment.

=

trampette
£17.99

basketball
stand
£169

tennis
racket
£14.99

®

football
£5.99

(a) Mr Adams pays for a sports bag and a basketball stand.

Altogether, how much does he pay?

(b) Mrs Brown has £20
She pays for two footballs.

\

How much change should she get?

(c) Mrs Cooke has £60

How many tennis rackets can she buy with £507

\

\

+mank

+ mank

+ mank
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10. I have some 5p coins and some 2p coins.

5p coins 2p coins

I can use some of my coins to make 27p.

(a) Complete the table to show different ways to make 27p.

The first way is done for you.

Ways to make 27p

Use five 5p coins and 2p coin.

\ Use three 5p coins and 2p coins.
e

Use one 5pcoin and 2p coins.

+ mank

(b) 1 cannot make 27p from 5p coins and 2p coins using
an even number of Bp coins.

Explain why not.

\
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Shoe sizes in Britain and Germany are different.

The rule below shows how to change a British shoe size to

a German shoe size.

Multiply the British shoe size by 1.26,

then add 32,

then round the answer to the nearest whole number.

Tom's British shoe size is 7, Karl's British shoe size is 71

They say:

‘The rule shows that we have the same German shoe size'.

Are they correct? Tick () Yes or No.

Yes

No

Show working to explain your answer.

3marts
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L .

There are seven different ways to make 8p with coins.

Complete the table to show the seven ways to make 8p.

Two have been done for you.

Number of Number of Number of
5p coins 2p coins 1p coins
0 0 8
0 1 6

s
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The diagram shows a matchbox.
Its length is 5.3cm. Its width is 3.6cm. ts height is 1.5cm.

$15em

...

om

Not drawn aceurately.

{a) 1join two matchboxes in different ways.

Fill in the missing valu

\ length = cm
em
\ [height= om
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18.  Write the missing numbers in the table.

The first row is done for you.

First Second Sum of first || Product of first
number. number 'r:". mﬂ'ﬂ -:: mr:u
3 6 9 18
\ N o
-8 -
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3.

I have some 5p coins and some 2p coins.

5p coins 2p coins

I can use some of my coins to make 27p.

(a) Complete the table to show different ways to make 27p.

The first way is done for you.

Ways to make 27p

Use five 5p coins and one 2p coin.
N Gse thee 5p coins and 2p coins.
Use one 5pcoin and 2p coins.

(b) 1 cannot make 27p from 5p coins and 2p coins using
an even number of 5p coins.

Explain why not.

\
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13,

Shoe sizes in Britain and Germany are different.

The rule below shows how to change a British shoe size to
a German shoe si

Multiply the British shoe size by 1.25,
then add 32,
then round the answer to the nearest whole number.

Tom's British shoe size is 7, Karl’s British shoe size is 7%

They say:

“The rule shows that we have the same German shoe size'.

Are they correct? Tick (v) Yes or No.

Yes No

Show working to explain your answer.

B
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7.
There are 20 questions in a quiz.

A correct answer scores 2 points. An incorrect answer loses 1 point.

A question not answered scores 0 points. A negative total is possible.

{a) What are the maximum and minimum points you could get on the quiz?

maximum minimum -
(b) A pupil answers 10 of the 20 questions.

8 are correct.

How many points does he score?

(c) Complete the table to show 3

ferent ways to score 24 points.

12 0 8

2
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5. (a) You can make six different numbers using these three digit cards:

Complete the list to show the six different numbers.

357

375

(b) From the list, write down the smallest number and the biggest number,
then add them together.

\




image24.jpg
Here are the prices of food and drinks in a café.

Food Drinks
Pizza £140 Tea 65p
Burger 95p Coffee 90p
Sandwich  £1.20 Cola 80p
Toast 90p Juice £1.00

(a) Sally wants to buy one item of food and one drink.

What is the least amount of money she can pay?

N\ e

(b) Lee buys one item of food and one drink.

He pays with a £5 note and gets £2.60 change.

What did Lee buy?

N\

and
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Write the missing numbers on the number lines.

s
. KN
T I
18 \
+29
\ 46
+3
LN
I I
-8 \
+6 +6
/ h |

imak

mank

2k
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10. (a) Add together 3.7 and 6.5

(b) Subtract5.7 from 15.2

() Multiply 254 by &

(d) Divide 342 by 6
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5.

The table shows information about the Paralympic Games.

Number of

Year countries that | the games
100k part took place

1960 23 Italy

1980 a2 Holland ‘ 2500 |

(a) More countries took part in 1980 than in 1960.

How many more?

\

(b) More people took part in 1980 than in 1960.

How many more?

\

(c) In the year 2000, the games took place in Australia.

81 more countries took part in 2000 than in 1980.

1324 more people took part in 2000 than in 1980.

Use this information to complete the table at the top of the page.
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A newspaper printed this information about the number of
teachers in England.

(a)

‘Secondary school teachers

In 1997 there were 176050 teachers.

By 2002 there were 11810 more teachers.

How many secondary school teachers were there in 20027

(b)

In 1997 there were 176890 teachers.

In 2002 there were 178240 teachers.

There were more primary school teachers in 2002 than in 1997.

How many more?
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14, Arrange all the numbers 1,2,3,4 and § into two groups, so that

doubling the sum of the first group gives
the sum of the second group.

There are three different ways the numbers can be arranged.
The first one s done for you.

First group Second group

5 1,2 .3 4
First group Second group
First group Second group
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23 Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19)

a8 + 57
61 -19 +ma
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Write the missing numbers on the number lines.

+6

i

2rarks
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3. (a) Addtogether3.7 and 6.5

(b) Subtract 5.7 from 15.2

(c) Multiply 254 by 5

(d) Divide 342 by 6
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18. (@) Look at this information

Two numbers multiply to make zero.

One of the statements below is true.

Tick (v) the t

N\

rue statement.

Both numbers must be zero.

At least one number must be zero.

Exactly one number must be zero,

Neither number can be zero

(b) Now look at this information

Two numbers add to make zero

If one number is zero, what is the other number?

\

If neither number is zero, give an example of what

the numbers

could be.

and
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Arrange all the numbers 1, 2,3, 4 and § into two groups, so that

doubling the sum of the first group give
the sum of the second group.

There are three different ways the numbers can be arranged.

The first one is done for you.

First group Second group
5 12 3 a4

First group Second group

First group Second group
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Use your calculator to work out the answers.

\

(48 + 67) x (61 - 19) =

48 + 57
61-19
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A shop sells three different sized bottles of lemonade.

() 1 want 3 litres of lemonade.
I could buy three botties of size 1 ltre.

How much would that cost?

(b) Write a different way | could buy exactly 3 litres of lemonade.

\

Now work out how much it would cost.
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(c) Write another different way | could buy exactly 3 litres of lemonade.

\

‘Now work out how much it would cost.
Ne ]

(@ My friend buys seven botties of lemonade.
hﬂmmndhl%h‘

Five of the bottles are of size 2 litres.

How many litres is that altogether?

\

il |
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6. (@ Workout

7+ 46 =

7 x 5 =

() What number do you need to add to 63 to make 1007

(©) Wnat number do you need to subtract from 100 to make 387
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11. (a) Add together 1740 and 282

(©) Now add together 17.4 and 2.82
You can use part (a) to help you.

(c) 35+2.35 is bigger than 3.3 +2.1

\

How much bigger?
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(a)

©

@

There are 12 puplls in a group.
The table on the opposite page gives information about them.

Use the table to answer these questions.

How many girls are in this group?

\

Whose birthday is one day after Alex Alcroft's birthday?

\

Who is the oldest boy in the group?

\

Anew pupil, Sue Li, joins the group.
‘She was born exactly 1 month atter Laura Miller.

What s Sue's date of birth?
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5.

A shop sells birthday cards.

Each card has a code that shows the price.

Price of card

95p

£1.25

£1.65

olo|wm|>

£1.95

m

£235

(a) Karen pays for two cards.
One card has code A on it.
The other has code C.

Altogether, how much does Karen pay?

(©) Tariq pays for two cards.
Both cards have code D on them.

Tariq pays with a £10 note.
How much change should he get?
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(©

Greg pays for two cards.
Altogether he pays £3.60

What could the codes on Greg's cards be?
There are two different answers. Write them both.

The codes could be and Lor

the codes could be and
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3. Write the missing numbers in the boxes.

\ 4 L + 20 = 180

4 x 20 4+ = 180

4 ® - 20 = 180
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5.

(@ Add together 1740 and 262

() Now add together 17.4 and 2.82

You can use part a) to help you.

() 3.5+2.35 isbiggerthan 3.3+2.1

How much bigger?

\
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6.

Write the missing numbers in the boxes.

\

4 x +

20

20

180

180

180
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Write in the boxes what the missing numbers could be.

\ . . -
. :

. .

x . -





image46.jpg
1.

‘This question is about money called euros.
Wite the total number of euros in each box.

‘The first one is done for you.

615 \

Total: euros Total: euros

Total: euros Total: euros
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Work out

64 + 57

64 - 57

"
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\

Here are the rules for a number grid.

This number is the sum of the numbers
12 |~ inthe midde row.

20 |~ This number s the product of the numbers

in the middle row.

Use the rules to write the missing numbers in these number grids.

12

10

24
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14. (a) Write the answer to this calculation.

NE

+ | 25 + | 25 =

(b)  Now write a number in each box to make this calculation correct.
‘The three numbers must be the same.

‘0-0-0-0 -
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Here are the costs of tickets for a concert.

Concert tickets

Adults:  £24.50 each

Children: ~ £16.45 each

(a) Two adults go to the concert with three children.

Altogether, how much do thelr tickets cost?

Me 1 =

(b) Three adults go to the concert with some children.

Altogether, their tickets cost £155.75

How many children went to the concert with the three aduits?

\
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12, Here s information about some bags of marbles.

Altogether. there are 10 bags.

Each bag contains 12 marbles.

Each marble weighs 7 grams.

Use the information to match each question with the correct calculation.

“The first one i done for you

Question Calculation
10
How many bags are L —1
there altogether?
10x7
\ How many marbles are
there altogether? 0% 12
How much does each bag 27
of marbles weigh?
10x12x7
How much do all 10 bags
of marbles weigh attogether? it
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5. Leena buys balloons, hats and masks for a party.
Wite the missing numbers in the table.
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\

Here are the rules for a number grid.

This number is the sum of the numbers
12 |=— inthe middie row.

20 |~ This number is the product of the numbers.

in the middle row.

Use the rules to write the missing numbers in these number grids.

: 4

10

24
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7.

(a) Wite the answer to this calculation.

\

25 + 25 + 25

(b) Now write a number in each box to make this calculation correct.
The three numbers must be the same.

N

+
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Here is information about some bags of marbles.

Altogether, there are 10 bags.

Each bag contains 12 marbles.

Each marble weighs 7 grams.

Use the information to match each question with the correct calculation.

The first one is done for you.

Question Calculation
10
How many bags are —1
there altogether?
10x7
How many marbles are
there altogether? Tox12
How much does each bag 12x7
of marbles weigh?
10x12x7
How much do all 10 bags
of marbles weigh altogether? it
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Look at these prices.

Ruler

Pencil

Blue pen

Green pen

Eraser

(a) Use the prices to fill in the gaps below.

Q The total cost of two rulers and one pencil.
Q The total cost of three blue pens. i

\

The total cost of one blue pen and ey

KSI0IMarTier 3-5/P1

satspapers.org

(b) There are many different ways to make the total cost 60p.

Use the prices to fill in the gaps below.

One way is done for you.

\ The total cost of .10 [Uers

The total cost of

The total cost of

The total cost of
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Leena buys balloons, hats and masks for a party.
Write the missing numbers in the table.

10 19.50

Total:
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7.

People who have been married for many years have special anniversaries.

Number of years they Special
have been married anniversary
25 years Silver
| s coden
| 60 years Diamond

(@ Betty and Stan were married in 1952.
In what year was their golden anniversary?

\—

(b) Lyn and Chris had thei silver anniversary in 1985.
In what year were they married?

\_

(©) Jean and Peter had their diamond anniversary in 1997.
In what year was their golden anniversary?

\—
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Work out the following.

1706 + 185

576 - 83

65 x 9

154 + 7
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12.

Look at the calculation below.
Write the correct digits in the boxes.

Mele]
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17. Write two numbers that add to 10

One of the numbers must be positive.

The other number must be negative.

N
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8.

(@

(b)

What number is 378 more than 17567

What number is 378 times as big as 17562

\
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Kim works in a shop.

The shaded squares on the diagram below show
the hours she worked in one week.

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

9 10 11 12 1 2 3 4 5 6

am pm

The table shows her pay for each hour worked.

Pay for each hour worked
Monday to Friday, 9am to 5pm £6.35
Monday to Friday, after 5pm £7.50

Saturday £7.50
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How much was Kim's pay for this week?

\
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Look at the calculation below.
Write the correct digits in the boxes.
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10. Write two numbers that add to 10

One of the numbers must be positive.

The other number must be negative.

N
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6. (a) What number should you add to 28 to make 1007

\

(b) What number should you subtract from 100 to make 787

\

(e) Work out

48 + 49 =

784+3=

1048 + 208 =

4828 - 480 =
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There are 25 pupils in a class.
‘The table shows information about their test results in maths and English.

(a) How many pupils had the same level in both maths and English?

\—

(b) How many pupils had a higher level in maths than in English?

\—
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17.

Kim works in a shop.

‘The shaded squares on the diagram below show

the hours she worked in one week.

Monday
Tuesday
Wednesday
Thursday
Friday
Saturday
6
-~ am —= pm
‘The table shows her pay for each hour worked.
Pay for each hour worked
Monday to Friday, 9am to 5pm £6.35
Monday to Friday, after 5pm £7.50
Saturday £7.50
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\

How much was Kim's pay for this week?
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In the diagram, three circles in a straight ine must add up to 100

Write in the missing numbers.

\

O

45

35
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In a restaurant, the colour of each dish shows how much the food in it costs.
‘The table shows the different colours and costs.

Colour of dish
Green £1.50
Blue £2.00
Red £2.50
Orange £3.00
Pink £3.50

(@ Meera pays for two biue dishes and two pink dishes.
Altogether, how much did they cost?

\[e

(b) Victor pays for one green, one red and one pink dish.
He pays with a £10 note.

How much change should he get?

\
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() Rachel pays for two dishes that cost exactly £4.50 altogether.

What colours could her dishes be?

‘There are two possible answers. Write them both.

colours: and

or colours: and
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oionoonon

Use the digit cards to complete the calculations below.

YYou can use each card more than once.
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Fillin the boxes to complete each number chain.

Use any of the following:

+10 -10 x10 > +10
N e
\ 450 —» - - 35
\ 450 —»| - - 46
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15.

\
\

Look at this set of four number cards.

The sum of these numbers is 80

Now look at the two sets of number cards below.

SetA

SetB

17 ][]

19”20’

=) (=) (=)

Which set has a sum that is closer to 807

SetA

SetB

Explain your answer.
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17. (a) Join all the pairs of numbers that add together to equal 1
The first one is done for you.

0.99

g

0.9

gof

() Now join all the pairs of numbers that multiply to equal 1
The first one is done for you.

oang
DOEBEE




image4.jpg
A car park shows this sign.

10p

70p

Pay using any of these coins:

20p

50p

No change given

Complete the table to show all the different ways of paying exactly 70p.

Number of | Number of | Number of
10p coins | 20p coins | 50p coins,
7 0 0
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22, In these number grids, two numbers are added to give the number below.

Example:

13 12

183 +12=25

25

Write numbers in the number grids below to make them correct.

\

12
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T 999

Each parcel costs £1.30 to post.
How much change should she get from £10?

\
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11. The table shows the cost of tickets for visiting a castle.

Family £17.00

Adult £6.50
£4.50

Two adults and two children visit the castie.
They buy a family ticket.

How much more would it have cost to buy two adult tickets and
two child tickets?
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12, Pupils take a test that has three different papers.

Each pupil adds their marks from all three papers to find their total mark.
The table shows how to change the total mark to a grade.

‘mark Grade

104 or more

From 79 to 103

From 5310 78

From 34 to 52

mlo|o|o|>

33 or less

(a) Here are Simon’s marks.

Paper 1 Paper2 Paper 3
26 marks 33 marks 18 marks

What grade did Simon get on the test?
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(b) Here are Jenna's marks from paper 1 and paper 2

48 marks 35 marks. ?

Jenna's grade on the test was grade A.
Complete the sentence below.

\

Jenna must have scored atleast _____ marks on paper 3 .
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Fill in the boxes to complete each number chain.

Use any of the following:

+10 >

_10> x1o>

D

450 —»|

450 —=|

\ 450 —»|

e

=~ 35

-~ 46
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\
\

Look at this set of four number cards.

The sum of these numbers is 80

Now look at the two sets of number cards below.

SetA

SetB

a

w) [0 []

‘21”22”23“24’

Which set has a sum that is closer to 807

SetA SetB

Explain your answer.
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10. (@) Join all the pairs of numbers that add together to equal 1

The first one is done for you.

(b) Now join all the pairs of numbers that multiply to equal 1

The first one is done for you.
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15. In these number grids, two numbers are added to give the number below.

Example:

13

25

13+12=25

Write numbers in the number grids below to make them correct.

\

22

12
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18. Match each instruction on the left with an instruction on the right that has.

the same effect.

“The first one is done for you.

Add 0

[~ ]
N

1
‘Subtract 2

Subtract 0

1
2

Add -2

Subtract -2
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Work out

1048 + 208 =

4828 - 480 =

Vi

Vimith
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Pupils take a test that has three different papers.

Each pupil adds their marks from all three papers to find their total mark.
‘The table shows how to change the total mark to a grade.

TN E——

From 530 78

From 34 to 52 |

33 or less |

() Here are Simon's marks.

26 marks 33 marks. 18 marks

‘What grade did Simon get on the test?
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(b) Here are Jenna's marks from paper 1 and paper 2

48 marks 35 marks ?

Jenna's grade on the test was grade A.
Complete the sentence below.

\

Jenna must have scored atleast __________ marks on paper 3
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‘The table shows the cost of tickets for visiting a castle.

Family ~ £17.00

Adult £6.50

Child £4.50

Two adults and two children visit the castle.

They buy a family ticket.

How much more would it have cost to buy two adult tickets and
two child tickets?
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(@)

®)

©

Hore is a number grid.

|s| H2|BQ‘BA 8 se|s7‘ss|ss|

Two squares are shaded.

What is the total of the numbers in the two shaded squares?

‘Shade two different squares that have the same total as the answer to part (a).

What is the total of the numbers in all four shaded squares?
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A café sells small, medium and large drinks.

‘The table shows the number of drinks the café sold on one day.

Chocolate

(@ Altogether, how many chocolate drinks were sold?

\

() A small tea costs 50p.

Altogether, how much was spent on smal teas?
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5.

Look at the number sentences below.
Tick (v) ones that are correct and cross (x) ones that are incorrect.
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Write the missing numbers in the boxes.

920
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The numbers on these scales balance.

23| |26 40 (|9

Write the missing number so that these scales balance.

\

27| |26 25((25
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Ll finished 2nd out of 8 runners in a race.
How many runners finished the race after Lily?

Max was in a different race.

7 runners finished the race before Max.
3 runners finished the race after Max.

Altogether, how many runners finished the race?
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21. (a) Work out the answer.

\2¢(16+2)¢6.

(b) Put brackets in the calculation below to make it correct.

\ 2 + 16




